# ON COMBINATORIAL IDENTITIES OF PELL-CHEBYSHEV TWIN NUMBER PAIRS 

R. Rangarajan, Mukund. R, Honnegowda. C. K and Mayura. R<br>Communicated by V. Lokesha

AMS Classifications: 05A19, 11B37, 11B39, 33C90.
Keywords and phrases: Lucas and Fibonacci numbers, Pell-Lucas and Pell numbers, Applications of Chebyshev polynomials of first and second kind, Combinatorial identities.


#### Abstract

The pair of Lucas and Fibonacci numbers and Pell-Lucas and Pell numbers and their numerous elegant combinatorial identities occupy a significant area in the study of combinatorial identities. With the application of Chebyshev polynomials of the first and second kind, the two pairs may be further split into two pairs of twin number pairs. In the present paper, one such twin number pair is defined, and we call them as Pell-Chebyshev twin number pairs. Many of their combinatorial identities are derived which show remarkable interconnections among them.


## 1 Introduction

Pascals triangle, continued fractions, partition of numbers, matrices and determinants, linear and nonlinear difference equations, convolution sums and so on, produce many beautiful combinatorial identities of several combinatorial entities like pair of sequences of numbers, pair of sequences of polynomials and so on ([10], [13], [14], [17], [18], [19]). One of the major portions of these identities is spread on the two well known pairs of numbers, namely, the pair of Lucas and Fibonacci numbers[17], [19] as well as Pell-Lucas and Pell numbers[18]. They have practical applications in computer science such as quantum key distribution[7], cryptography[15], Coding theory [4] and so on. There are identities which highlight the striking similarities among the two pairs. For the sake of clarity the standard notations are listed in Table(1):

| No. | Entity | Notation and definition |
| :---: | :---: | :---: |
| 1 | Golden Ratio and its reciprocal | $\Phi=\frac{\sqrt{5}+1}{2}, \phi=\frac{\sqrt{5}-1}{2}$ |
| 2 | Pythagorean algebraic integer and its reciprocal | $\alpha=\sqrt{2}+1, \beta=\sqrt{2}-1$ |
| 3 | Fibonacci numbers | $F_{n}=\frac{1}{\sqrt{5}}\left(\Phi^{n}-(-\phi)^{n}\right)$ <br> $=0,1,1,2,3,5,8, \ldots$ |
| 4 | Lucas numbers | $L_{n}=\Phi^{n}+(-\phi)^{n}$ <br> $=2,1,3,4,7,11,18, \ldots$ |
| 5 | Pell numbers | $q_{n}=\frac{1}{2 \sqrt{2}}\left(\alpha^{n}-(-\beta)^{n}\right)$ <br> $=0,1,2,5,12,29, \ldots$ |
| 6 | Pell-Lucas numbers | $p_{n}=\frac{1}{2}\left(\alpha^{n}+(-\beta)^{n}\right)$ <br> $=1,1,3,7,17,41, \ldots$ |

Table 1. Basic notations and definitions
The two pairs of numbers $\left(L_{n}, F_{n}\right)$ and $\left(p_{n}, q_{n}\right)$ appear to be very simple but they have profound mathematical ideas behind the variety of their combinatorial identities. The following Table 2 shows their striking similarities:

| No. | $\left(L_{n}, F_{n}\right)$ | $\left(p_{n}, q_{n}\right)$ |
| :---: | :---: | :---: |
| 1 | $\begin{aligned} & F_{n}=F_{n+1}-F_{n-1} \\ & L_{n}=L_{n+1}-L_{n-1} \end{aligned}$ | $\begin{aligned} 2 q_{n} & =q_{n+1}-q_{n-1} \\ 2 p_{n} & =p_{n+1}-p_{n-1} \end{aligned}$ |
| 2 | $\begin{gathered} L_{n}=F_{n+1}+F_{n-1} \\ 5 F_{n}=L_{n+1}+L_{n-1} \end{gathered}$ | $\begin{aligned} & 2 p_{n}=q_{n+1}+q_{n-1} \\ & 4 q_{n}=p_{n+1}+p_{n-1} \end{aligned}$ |
| 3 | $\frac{F_{n-1}}{F_{n}}=[0 ; 1,1, \ldots, 1]_{n}$ | $\frac{q_{n-1}}{q_{n}}=[0 ; 2,2, \ldots, 2]_{n}$ |
| 4 | $\begin{gathered} F_{2 n+1}=F_{n}^{2}+F_{n+1}^{2} \\ F_{2 n}=L_{n} F_{n} \end{gathered}$ | $\begin{aligned} q_{2 n+1} & =q_{n}^{2}+q_{n+1}^{2} \\ q_{2 n} & =2 p_{n} q_{n} \end{aligned}$ |
| 5 | $\left(2 F_{n} F_{n+1}\right)^{2}+\left(F_{n-1} F_{n+1}\right)^{2}=F_{2 n+1}^{2}$ | $\left(2 q_{n} q_{n+1}\right)^{2}+\left(p_{n} p_{n+1}\right)^{2}=q_{2 n+1}^{2}$ <br> where the terms on the left hand side have two consecutive numbers. |
| 6 | $F_{n+1}=\sum_{k=0}^{\left\lfloor\frac{n}{2}\right\rfloor}\binom{n-k}{k}$ <br> -rising diagonal sum of Pascal triangle. | $q_{n+1}=\sum_{k=0}^{\left\lfloor\frac{n}{2}\right\rfloor}\binom{n+1}{2 k+1} 2^{k}$ <br> -weighted row sum of second alternate terms of the Pascal triangle. |

Table 2. Similarities between $\left(L_{n}, F_{n}\right)$ and $\left(p_{n}, q_{n}\right)$


Figure 1. Graph of pair of hyperbolas
Diophantine equations[2][3] such as $a x+b y= \pm 1, x^{2}-2 y^{2}= \pm 1, x^{2}-5 y^{2}= \pm 4$ and so on have great history in number theory with interesting connection to continued fractions, acceleration of convergence technique and many more. Let us consider the Pell's equation[2][3][9] $x^{2}-N y^{2}= \pm 1$ when $N \geq 2$ is a square free positive number. The solutions are exactly integer coordinates on the four parts of pair of hyperbolic curves namely, $y= \pm \sqrt{\frac{x^{2} \mp 1}{N}}$. Geometrically $x^{2}-2 y^{2}= \pm 1$ form an envelope or kernel for all those four parts of pair of hyperbolas refer fig(1). Any $M$ - data points placed on such hyperbolas naturally are inside the kernel
$x^{2}-2 y^{2}= \pm 1$. The kernel is separated by the pair of lines $x^{2}-2 y^{2}=0$. This model has motivated many engineers who wish to design data analysis tools to work on multi variable functions with values $\pm 1$. Given any $M$ - data in the form of $n$ - dimensional vectors, it is a challenging problem to design kernel and the separating hyper planes which is a serious mathematical discipline in machine learning[5][8]. In this context the Pell-Lucas and Pell numbers being solution of simplest Pell's equation have a practical significance.

Chebyshev polynomials of first and second kind[10][13] play a very significant role in deriving many combinatorial identities of certain sequences of numbers such as Binet forms, recurrence relations, generating functions, convolutional identities and so on. In the standard notations:

$$
\begin{array}{r}
T_{n}(x)=\frac{1}{2}\left[x+\sqrt{x^{2}-1}\right]^{n}+\left[x-\sqrt{x^{2}-1}\right]^{n}, n=0,1,2,3, \ldots \\
\operatorname{and} U_{n-1}(x)=\frac{1}{2 \sqrt{x^{2}-1}}\left[x+\sqrt{x^{2}-1}\right]^{n}-\left[x-\sqrt{x^{2}-1}\right]^{n}, n=1,2,3, \ldots
\end{array}
$$

define the Chebyshev polynomials of first and second kind. They are also regarded as trigonometric polynomials because if $-1<x<1$,

$$
T_{n}(\cos \theta)=\operatorname{cosn} \theta ; U_{n}(\cos \theta)=\frac{\sin (n+1) \theta}{\sin \theta}
$$

As a result, they exhibit many combinatorial identities as well as orthogonality properties. In the recent literature one can find many applications of Chebyshev polynomials in the field of computer science such as cryptography[1], google page ranking[12], wavelets[11] and so on. In the present paper Chebyshev polynomials are applied to define Pell-Chebyshev twin pairs and derive their combinatorial identities.

## 2 Twin pairs of Pell-Chebyshev numbers

The whole idea begins with writing the golden ratio in the form

$$
\Phi=\frac{\sqrt{5}}{2}+\frac{1}{2}=\left(\frac{\Phi+\phi}{2}\right)+\sqrt{\left(\frac{\Phi+\phi}{2}\right)^{2}-1}
$$

and its reciprocal in the form

$$
\phi=\frac{\sqrt{5}}{2}-\frac{1}{2}=\left(\frac{\Phi+\phi}{2}\right)-\sqrt{\left(\frac{\Phi+\phi}{2}\right)^{2}-1}
$$

An immediate result is

$$
\begin{aligned}
\Phi^{n}+\phi^{n} & =2 T_{n}\left(\frac{\Phi+\phi}{2}\right) \\
\Phi^{n+1}-\phi^{n+1} & =U_{n}\left(\frac{\Phi+\phi}{2}\right)
\end{aligned}
$$

( Because $2 \sqrt{\left(\frac{\Phi+\phi}{2}\right)^{2}-1}=1=\Phi-\phi$ ).
As a direct consequence we can split $\left(L_{n}, F_{n}\right)$ into the following twin pairs:

$$
\begin{aligned}
\left(\sqrt{5} F_{2 n-1}, \sqrt{5} F_{2 n}\right) & =\left(2 T_{2 n-1}\left(\frac{\sqrt{5}}{2}\right), U_{2 n-1}\left(\frac{\sqrt{5}}{2}\right)\right) \\
\left(L_{2 n-1}, L_{2 n}\right) & =\left(U_{2 n-2}\left(\frac{\sqrt{5}}{2}\right), 2 T_{2 n}\left(\frac{\sqrt{5}}{2}\right)\right)
\end{aligned}
$$

It is an amazing result that the constant $\alpha=\sqrt{2}+1$ and the reciprocal $\beta=\sqrt{2}-1$ also have similar expressions in terms of Chebyshev polynomials.

$$
\begin{aligned}
\alpha^{n}+\beta^{n} & =2 T_{n}\left(\frac{\alpha+\beta}{2}\right) \\
\alpha^{n+1}-\beta^{n+1} & =2 U_{n}\left(\frac{\alpha+\beta}{2}\right)
\end{aligned}
$$

These beautiful expressions have motivated us to define two pairs of sequences $\left\{\left(A_{n}, B_{n}\right),\left(C_{n}, D_{n}\right)\right\}$ given by Binet form:

## Definition 2.1.

$$
\begin{align*}
A_{n} & =\alpha^{2 n-1}+\beta^{2 n-1}=2 T_{2 n-1}(\sqrt{2})  \tag{2.1}\\
B_{n} & =\frac{\alpha^{2 n-1}-\beta^{2 n-1}}{\alpha-\beta}=U_{2 n-2}(\sqrt{2})  \tag{2.2}\\
C_{n} & =\alpha^{2 n}+\beta^{2 n}=2 T_{2 n}(\sqrt{2})  \tag{2.3}\\
D_{n} & =\frac{\alpha^{2 n}-\beta^{2 n}}{\alpha-\beta}=U_{2 n-1}(\sqrt{2}) \tag{2.4}
\end{align*}
$$

are defined as twin Pell-Chebyshev pairs.

We may write each one of the above equations (2.1) to (2.4) in the form

$$
x_{n}=k_{1}\left(\alpha^{2}\right)^{n}+k_{2}\left(\beta^{2}\right)^{n}
$$

As a result, each one of the sequences $\left\{A_{n}\right\}$ to $\left\{D_{n}\right\}$ must satisfy the following relation:

$$
x_{n+1}=\left(\alpha^{2}+\beta^{2}\right) x_{n}-\left(\alpha^{2} \beta^{2}\right) x_{n-1}
$$

$n=1,2,3 \ldots, x_{0}=k_{1}+k_{2}$ and $x_{1}=k_{1} \alpha^{2}+k_{2} \beta^{2}$.
Theorem 2.2. For $n=1,2,3 \ldots$
(i) $A_{n+1}=6 A_{n}-A_{n-1}, A_{0}=A_{1}=2 \sqrt{2}$
(ii) $B_{n+1}=6 B_{n}-B_{n-1}, B_{0}=-1, B_{1}=1$
(iii) $C_{n+1}=6 C_{n}-C_{n-1}, C_{0}=2, C_{1}=6$
(iv) $\quad D_{n+1}=6 D_{n}-D_{n-1}, D_{0}=0, D_{1}=2 \sqrt{2}$

The Pell-Chebyshev twin pairs can also be written as

$$
\begin{aligned}
& \left(A_{n}, B_{n}\right)=\left(2 \sqrt{2} q_{2 n-1}, p_{2 n-1}\right)=\{(2 \sqrt{2},-1),(2 \sqrt{2}, 1),(10 \sqrt{2}, 7), \ldots\} \\
& \left(C_{n}, D_{n}\right)=\left(2 p_{2 n}, \sqrt{2} q_{2 n}\right)=\{(2,0),(6,2 \sqrt{2}),(34,12 \sqrt{2}), \ldots\}
\end{aligned}
$$

Using the basic property of $\left(p_{n}, q_{n}\right), p_{n}^{2}-2 q_{n}^{2}=(-1)^{n}$, we may rewrite similar expressions for $\left\{A_{n}\right\}$ to $\left\{D_{n}\right\}$ in the following theorem:

Theorem 2.3. For $n=1,2,3, \ldots$

$$
\begin{aligned}
(i) A_{n}^{2} & =4\left[1+B_{n}^{2}\right] \\
(i i) C_{n}^{2} & =4\left[1+D_{n}^{2}\right]
\end{aligned}
$$

Let us note that for $n=1,2,3, \ldots$

$$
\begin{aligned}
\frac{A_{n}}{2} & =T_{2 n-1}(\sqrt{2}), \frac{C_{n}}{2}=T_{2 n}(\sqrt{2}) \\
B_{n+1} & =U_{2 n}(\sqrt{2}), D_{n}=U_{2 n-1}(\sqrt{2})
\end{aligned}
$$

and by applying standard identities satisfied by $T_{n}(x)$ and $U_{n}(x)$

$$
\begin{aligned}
& T_{n+1}(x)=2 x T_{n}(x)-T_{n-1}(x), T_{0}(x)=1, T_{1}(x)=x, n=1,2,3, \ldots \\
& U_{n+1}(x)=2 x U_{n}(x)-U_{n-1}(x), U_{0}(x)=1, U_{1}(x)=2 x, n=1,2,3, \ldots
\end{aligned}
$$

we prove the following theorem :
Theorem 2.4. For $n=1,2,3, \ldots$

> (i) $2 \sqrt{2} A_{n}=C_{n}+C_{n-1}$
> (ii) $2 \sqrt{2} B_{n}=D_{n}+D_{n-1}$
> (iii) $2 \sqrt{2} C_{n}=A_{n}+A_{n+1}$
> (iv) $2 \sqrt{2} D_{n}=B_{n}+B_{n+1}$

Let us write $p_{2 n-1}=B_{n}, p_{2 n}=\frac{C_{n}}{2}, q_{2 n-1}=\frac{A_{n}}{2 \sqrt{2}}, q_{2 n}=\frac{D_{n}}{\sqrt{2}}, n=1,2,3, \ldots$ and let us apply the following standard 3 -term recurrence relations satisfied by $\left(p_{n}, q_{n}\right)$ : For $n=1,2,3, \ldots$,

$$
p_{n+1}=2 p_{n}+p_{n-1}, q_{n+1}=2 q_{n}+q_{n-1}, p_{n}=q_{n}+q_{n-1}, 2 q_{n}=p_{n}+p_{n-1}
$$

one can prove the following theorem:
Theorem 2.5. For $n=1,2,3, \ldots$

$$
\begin{array}{rll}
(i) & A_{n} & =A_{n-1}+4 D_{n-1} \\
(i i) & B_{n} & =B_{n-1}+C_{n-1} \\
(\text { iii }) & C_{n} & =C_{n-1}+4 B_{n} \\
(i v) & D_{n} & =D_{n-1}+A_{n} \\
\text { (v) } & \sqrt{2} A_{n} & =2 B_{n}+C_{n-1} \\
(v i) & 2 \sqrt{2} B_{n} & =A_{n}+2 D_{n-1} \\
(\text { vii } & \sqrt{2} C_{n} & =A_{n}+2 D_{n} \\
\text { (viii) } & 2 \sqrt{2} D_{n} & =2 B_{n}+C_{n}
\end{array}
$$

By combining theorem 2.2, 2.4 and 2.5 one obtains the following corollary.
Corollary 2.6. For $n=1,2,3, \ldots$
(i) $\quad A_{n}=\frac{A_{n+1}+A_{n-1}}{6}=\frac{B_{n+1}-B_{n-1}}{2 \sqrt{2}}=\frac{C_{n}+C_{n-1}}{2 \sqrt{2}}=D_{n}-D_{n-1}$
(ii) $\quad B_{n}=\frac{A_{n+1}-A_{n-1}}{8 \sqrt{2}}=\frac{B_{n+1}+B_{n-1}}{6}=\frac{C_{n}-C_{n-1}}{4}=\frac{D_{n}+D_{n-1}}{2 \sqrt{2}}$
(iii) $C_{n}=\frac{A_{n+1}+A_{n}}{2 \sqrt{2}}=B_{n+1}-B_{n}=\frac{C_{n+1}+C_{n-1}}{6}=\frac{D_{n+1}-D_{n-1}}{2 \sqrt{2}}$
(iv) $\quad D_{n}=\frac{A_{n+1}-A_{n}}{4}=\frac{B_{n+1}+B_{n}}{2 \sqrt{2}}=\frac{C_{n+1}-C_{n-1}}{8 \sqrt{2}}=\frac{D_{n+1}+D_{n-1}}{6}$

There is a determinant connection between $\left\{X_{n}\right\}\left(X_{n}=A_{n}\right.$ or $B_{n}$ or $C_{n}$ or $\left.D_{n}\right)$ and $\left\{Y_{n}\right\}\left(Y_{n}=F_{2 n-1}\right.$ or $F_{2 n}$ or $L_{2 n-1}$ or $\left.L_{2 n}\right)$ given by

## Theorem 2.7.

$$
\left|\begin{array}{cc}
X_{n+1} & X_{n} \\
Y_{n+1} & Y_{n}
\end{array}\right|+\left|\begin{array}{cc}
X_{n-1} & X_{n} \\
Y_{n-1} & Y_{n}
\end{array}\right|=3\left|\begin{array}{cc}
X_{n} & 0 \\
0 & Y_{n}
\end{array}\right|
$$

The proof is a simple consequence of the 3-term recurrence relations

$$
\begin{aligned}
X_{n+1}+X_{n-1} & =6 X_{n} \\
Y_{n+1}+Y_{n-1} & =3 Y_{n} .
\end{aligned}
$$

If $X(t)=\sum_{n=0}^{\infty} X_{n} t^{n}$ and if $X_{n+1}=6 X_{n}-X_{n-1}$, then

$$
X(t)=\frac{X_{0}+\left(X_{1}-6 X_{0}\right) t}{1-6 t+t^{2}} .
$$

As a result we obtain the generating functions of $\left\{A_{n}\right\},\left\{B_{n}\right\},\left\{C_{n}\right\},\left\{D_{n}\right\}$ given in the following theorem:

## Theorem 2.8.

(i) $\quad \sum_{n=0}^{\infty} A_{n} t^{n}=\frac{2 \sqrt{2}(1-5 t)}{1-6 t+t^{2}}$
(ii) $\sum_{n=0}^{\infty} B_{n} t^{n}=\frac{-1+7 t}{1-6 t+t^{2}}$
(iii) $\quad \sum_{n=0}^{\infty} C_{n} t^{n}=\frac{2-6 t}{1-6 t+t^{2}}$
(iv) $\sum_{n=0}^{\infty} D_{n} t^{n}=\frac{2 \sqrt{2} t}{1-6 t+t^{2}}$

## 3 Convolutional Identities

In the literature we can find many convolution identities of Fibonacci Numbers and Lucas Numbers [17][19]. The first three such identities are [6][16]:

$$
\begin{aligned}
\text { (i) } \sum_{k=0}^{n} L_{k} L_{n-k} & =(n+1) L_{n}+2 F_{n+1} \\
\text { (ii) } \sum_{k=0}^{n} L_{k} F_{n-k} & =\sum_{k=0}^{n} F_{k} L_{n-k}=(n+1) F_{n} \\
\text { (iii) } \sum_{k=0}^{n} F_{k} F_{n-k} & =\frac{1}{5}(n+1) L_{n}-\frac{2}{5} F_{n+1}
\end{aligned}
$$

In the present section many similar identities of the twin pair are worked out.

## Theorem 3.1.

(i) $\quad \sum_{k=0}^{n} A_{k}=D_{n}+D_{1}$
(ii) $4 \sum_{k=0}^{n} B_{k}=C_{n}-C_{1}$
(iii) $\quad \sum_{k=0}^{n} C_{k}=B_{n+1}+B_{1}$
(iv) $4 \sum_{k=0}^{n} D_{k}=A_{n+1}-A_{1}$

Proof. The theorem follows by splitting the left hand side sum into two geometric series in the power of $\alpha^{2}$ and $\beta^{2}$ respectively and applying the definition of $D_{n}, C_{n}, B_{n}$ and $A_{n}$ respectively.

## Theorem 3.2.

$$
\begin{aligned}
& \text { (i) } \sum_{k=0}^{n}\binom{n}{k} A_{k}= \begin{cases}(2 \sqrt{2})^{2 m+1} C_{m} & \text { if } n=2 m+1 \\
(2 \sqrt{2})^{2 m} A_{m} & \text { if } n=2 m\end{cases} \\
& \text { (ii) } \sum_{k=0}^{n}\binom{n}{k} B_{k}= \begin{cases}(2 \sqrt{2})^{2 m+1} D_{m} & \text { if } n=2 m+1 \\
(2 \sqrt{2})^{2 m} B_{m} & \text { if } n=2 m\end{cases} \\
& \text { (iii) } \sum_{k=0}^{n}\binom{n}{k} C_{k}= \begin{cases}(2 \sqrt{2})^{2 m-1} A_{m} & \text { if } n=2 m-1 \\
(2 \sqrt{2})^{2 m} C_{m} & \text { if } n=2 m\end{cases} \\
& \text { (iv) } \sum_{k=0}^{n}\binom{n}{k} D_{k}= \begin{cases}(2 \sqrt{2})^{2 m-1} B_{m} & \text { if } n=2 m-1 \\
(2 \sqrt{2})^{2 m} D_{m} & \text { if } n=2 m\end{cases}
\end{aligned}
$$

Proof. The idea of proof for this theorem is quite similar to that of previous theorem. Here one has to make sum using binomial theorem with powers in $\alpha^{2}$ or $\beta^{2}$ and one has to split each sum into even and odd number of terms which show directly what is suitable among $\left\{A_{n}, B_{n}, C_{n}, D_{n}\right\}$ to fit into the situation.

## Theorem 3.3.

(i) $\quad \sum_{k=0}^{n} A_{k} A_{n-k}=(n+1) C_{n-1}+\frac{1}{\sqrt{2}} D_{n+1}$
(ii) $4 \sum_{k=0}^{n} B_{k} B_{n-k}=(n+1) C_{n-1}-\frac{1}{\sqrt{2}} D_{n+1}$
(iii) $\quad \sum_{k=0}^{n} C_{k} C_{n-k}=(n+1) C_{n}+\frac{1}{\sqrt{2}} D_{n+1}$
(iv) $4 \sum_{k=0}^{n} D_{k} D_{n-k}=(n+1) C_{n}-\frac{1}{\sqrt{2}} D_{n+1}$
(v) $\quad \sum_{k=0}^{n} A_{k} B_{n-k}=\sum_{k=0}^{n} B_{k} A_{n-k}=(n+1) D_{n-1}$
(vi) $\quad \sum_{k=0}^{n} C_{k} D_{n-k}=\sum_{k=0}^{n} D_{k} C_{n-k}=(n+1) D_{n}$
(vii) $\quad \sum_{k=0}^{n} A_{k} C_{n-k}=\sum_{k=0}^{n} C_{k} A_{n-k}=(n+1) A_{n}+D_{n+1}$
(viii) $4 \sum_{k=0}^{n} B_{k} D_{n-k}=4 \sum_{k=0}^{n} D_{k} B_{n-k}=(n+1) A_{n}-D_{n+1}$
(ix) $\quad \sum_{k=0}^{n} A_{k} D_{n-k}=\sum_{k=0}^{n} D_{k} A_{n-k}=(n+1) B_{n}+\frac{1}{2 \sqrt{2}} D_{n+1}$
(x) $\quad \sum_{k=0}^{n} B_{k} C_{n-k}=\sum_{k=0}^{n} C_{k} B_{n-k}=(n+1) B_{n}-\frac{1}{2 \sqrt{2}} D_{n+1}$

Proof. The left hand side of each convolution identity takes one of the following forms:

$$
\sum_{k=0}^{n} C(\alpha, \beta)\left[\alpha^{r} \pm \beta^{r}\right]\left[\alpha^{s} \pm \beta^{s}\right]
$$

Where $C(\alpha, \beta)=1$ or $\frac{1}{\alpha-\beta}$ or $\frac{1}{(\alpha-\beta)^{2}}$ and $(r, s)=(2 k-1, n-2 k-1)$ or $(2 k-1, n-2 k)$ or $(2 k, n-2 k-1)$ or $(2 k, n-2 k)$. The sum splits into three terms. Where $X_{n}=C_{n-1}$ or $C_{n}$ or $D_{n-1}$ or $D_{n}$ or $A_{n}$ or $B_{n}$. The otherwise terms involve summing a finite geometric series with powers of either $\frac{\alpha}{\beta}$ or $\frac{\beta}{\alpha}$. A duly simplified form takes to right hand side of each identity.

## Theorem 3.4.

(i) $\quad \sum_{k=0}^{n}\binom{n}{k} A_{k} A_{n-k}=2^{n} C_{n-1}+26^{n}$
(ii) $4 \sum_{k=0}^{n}\binom{n}{k} B_{k} B_{n-k}=2^{n} C_{n-1}-26^{n}$
(iii) $\quad \sum_{k=0}^{n}\binom{n}{k} C_{k} C_{n-k}=2^{n} C_{n}+26^{n}$
(iv) $4 \sum_{k=0}^{n}\binom{n}{k} D_{k} D_{n-k}=2^{n} C_{n}-26^{n}$
(v) $\quad \sum_{k=0}^{n}\binom{n}{k} A_{k} B_{n-k}=\sum_{k=0}^{n}\binom{n}{k} B_{k} A_{n-k}=2^{n} D_{n-1}$
(vi) $\quad \sum_{k=0}^{n}\binom{n}{k} C_{k} D_{n-k}=\sum_{k=0}^{n}\binom{n}{k} D_{k} C_{n-k}=2^{n} D_{n}$
(vii) $\quad \sum_{k=0}^{n}\binom{n}{k} A_{k} C_{n-k}=\sum_{k=0}^{n}\binom{n}{k} C_{k} A_{n-k}=2^{n} A_{n}+2 \sqrt{2} 6^{n}$
(viii)

$$
4 \sum_{k=0}^{n}\binom{n}{k} B_{k} D_{n-k}=\sum_{k=0}^{n}\binom{n}{k} D_{k} B_{n-k}=2^{n} A_{n}-2 \sqrt{2} 6^{n}
$$

(ix) $\quad \sum_{k=0}^{n}\binom{n}{k} A_{k} D_{n-k}=\sum_{k=0}^{n}\binom{n}{k} D_{k} A_{n-k}=2^{n} B_{n}+6^{n}$
(x) $\quad \sum_{k=0}^{n}\binom{n}{k} B_{k} C_{n-k}=\sum_{k=0}^{n}\binom{n}{k} C_{k} B_{n-k}=2^{n} B_{n}-6^{n}$

Proof. The proof is similar and simpler than that of previous theorem and the only difference is instead of the geometric sum we do the sum using the binomial theorem.

It gives always a rich experience when one works convolution identities with classical Fi bonacci and Lucas numbers. Finite power series with coefficients $F_{k}$ and $L_{k}, k=0,1,2, \ldots, n$ can be summed with the help of 3 -term recurrence relation satisfied by them in the following forms:

$$
\sum_{k=0}^{n} X_{k} t^{k}=\frac{X_{0}+\left(X_{1}-X_{0}\right) t-\left(X_{n}+X_{n-1}\right) t^{n+1}-X_{n} t^{n+2}}{1-t-t^{2}}
$$

where $X_{k}=F_{k}$ or $L_{k}$. Similar proof techniques adopted to this nontrivial situation and a careful simplification yields the following beautiful theorem.

## Theorem 3.5.

$$
\begin{equation*}
\sum_{k=0}^{n} F_{k} A_{n-k}=\sum_{k=0}^{n} A_{k} F_{n-k}=\frac{1}{31}\left[2 A_{n+1}-5 A_{n}+6 \sqrt{2} F_{n+1}+46 \sqrt{2} F_{n}\right] \tag{i}
\end{equation*}
$$

$$
\sum_{k=0}^{n} F_{k} B_{n-k}=\sum_{k=0}^{n} B_{k} F_{n-k}=\frac{1}{31}\left[2 B_{n+1}-5 B_{n}-7 F_{n+1}-33 F_{n}\right]
$$

$$
\begin{equation*}
\sum_{k=0}^{n} F_{k} C_{n-k}=\sum_{k=0}^{n} C_{k} F_{n-k}=\frac{1}{31}\left[2 C_{n+1}-5 C_{n}-2 F_{n+1}+26 F_{n}\right] \tag{iii}
\end{equation*}
$$

$$
\begin{equation*}
\sum_{k=0}^{n} F_{k} D_{n-k}=\sum_{k=0}^{n} D_{k} F_{n-k}=\frac{1}{31}\left[2 D_{n+1}-5 D_{n}-4 \sqrt{2} F_{n+1}-10 \sqrt{2} F_{n}\right] \tag{iv}
\end{equation*}
$$

$$
\begin{equation*}
\sum_{k=0}^{n} L_{k} A_{n-k}=\sum_{k=0}^{n} A_{k} L_{n-k}=\frac{1}{31}\left[12 A_{n+1}+A_{n}+6 \sqrt{2} L_{n+1}+46 \sqrt{2} L_{n}\right] \tag{v}
\end{equation*}
$$

$$
\begin{equation*}
\sum_{k=0}^{n} L_{k} B_{n-k}=\sum_{k=0}^{n} B_{k} L_{n-k}=\frac{1}{31}\left[12 B_{n+1}+B_{n}-7 L_{n+1}-33 L_{n}\right] \tag{vi}
\end{equation*}
$$

$$
\begin{align*}
\sum_{k=0}^{n} L_{k} C_{n-k} & =\sum_{k=0}^{n} C_{k} L_{n-k}=\frac{1}{31}\left[12 C_{n+1}+C_{n}-2 L_{n+1}+26 L_{n}\right]  \tag{vii}\\
\sum_{k=0}^{n} L_{k} D_{n-k} & =\sum_{k=0}^{n} D_{k} L_{n-k}=\frac{1}{31}\left[12 D_{n+1}+D_{n}-4 \sqrt{2} L_{n+1}-10 \sqrt{2} L_{n}\right] \tag{viii}
\end{align*}
$$

The above theorem shows more scope to workout many more convolution identities involving convolution sum of more than two factors of the same or different entities.

In closing, we indicate two possible directions for future work. In the abstract we have mentioned that one twin number pair is defined, and we called them as Pell-Chebyshev twin number pairs. It is possible to consider some more such twin pairs motivated by Fibonacci and Lucas numbers. Also in theorem 2.2 we have selected particular initial conditions. One can consider other interesting initial conditions and work out the results of this paper.

## 4 Acknowledgement:

The first author is thankful to University Grants Com-mission (UGC), India for financial support under the grant SAPDRS-1-NO.F.510/12/DRS-II/2018. We also thank the anonymous referees for valuable suggestions to improve the presentation of the paper.

## References

[1] E. O. Adeyefa, Lukman Shina Akinola, and Oluwaferanmi David Agbolade. A New Cryptographic Scheme Using the Chebyshev Polynomials, International Conference in Mathematics, Computer Engineering and Computer Science (ICMCECS), IEEE, 1-3, (2020).
[2] André Weil, Number Theory: An approach through history from Hammurapi to Legendre, Springer Science and Business Media, (2006).
[3] W. S. Anglin, The Queen of Mathematics, An Introduction to Number Theory, Kluwer Academy Publishers, (1995).
[4] Bandhu Prasad, Coding theory on Lucas p numbers, Discrete Mathematics, Algorithms and Applications 8(04), 1650074, (2016).
[5] Emanuele Bellini, Nadir Murru, Antonio J. Di Scala, and Michele Elia, Group law on affine conics and applications to cryptography, Applied Mathematics and Computation, 125537, (2020).
[6] Guodong Liu, Formulas for convolution Fibonacci numbers and polynomials, Fibonacci Quarterly 40(4), 352-357, (2002).
[7] Hong Lai, Josef Pieprzyk, and Mehmet A. Orgun, Novel quantum key distribution with shift operations based on Fibonacci and Lucas valued orbital angular momentum entangled states, Physica A: Statistical Mechanics and its Applications, 554,124694, (2020).
[8] Marc Peter Deisenroth, A. Aldo Faisal, and Cheng Soon Ong, Mathematics for machine learning, Cambridge University Press, (2020).
[9] Marcin Acewicz and Karol Pak, Pell's equation, Formalized Mathematics 25(3), 197-204, (2017).
[10] J. C. Mason and D. C. Handscomb, Chebyshev polynomials, CRC press, (2002).
[11] ö. Oruç, F. Bulut and A. Esen, Chebyshev wavelet method for numerical solutions of coupled Burgers' equation, Hacettepe Journal of Mathematics and Statistics, 48(1), 1-16, (2019).
[12] C. Q. Miao and Xue-Yuan Tan, Accelerating the Arnoldi method via Chebyshev polynomials for computing PageRank, Journal of Computational and Applied Mathematics, 377,112891, (2020).
[13] Theodore J. Rivlin, The chebyshev polynomials: from approximation theory to algebra and number theory, Dover edition, (2020).
[14] Ronald L. Graham, Donald E. Knuth and Oren Patashnik. Concrete mathematics, Addison-Wesley Publishing Company, (1994).
[15] M. Sumathi and S. Sangeetha, A group-key-based sensitive attribute protection in cloud storage using modified random Fibonacci cryptography, Complex and Intelligent Systems, 6 1-15 (2020).
[16] Takao Komatsu and José L. Ramírez. Convolutions of the bi-periodic Fibonacci numbers, Hacettepe Journal of Mathematics and Statistics, 49(2), 1-13,(2019).
[17] Thomas Koshy, Fibonacci and Lucas numbers with applications, John Wiley and Sons, (2019).
[18] Thomas Koshy, Pell and Pell-Lucas numbers with applications, Springer, New York, (2014).
[19] S. Vajda, Fibonacci and Lucas numbers, and the golden section: theory and applications, Courier Corporation, (2008).

## Author information

R. Rangarajan, DOS in Mathematics,University of Mysore, Manasagangotri, Mysuru - 560 006., India.

E-mail: rajra63@gmail.com
Mukund. R, Department of Computer Science and Engineering, Manipal Institute of Technology, Manipal 576 104., India.
E-mail: mukundjohney@gmail.com
Honnegowda. C. K, Department of P.G Mathematics, Maharani's Science College For Women (Autonomous) J.L.B Road, Mysuru - 570 005., India.

E-mail: honnegowdack@gmail.com
Mayura. R, Epsilon,Bengaluru - 560 045., India.
E-mail: mayuraraj1998@gmail.com
Received: December 20, 2020
Accepted: June 7, 2021

